
a b n PI()/180 n*PI()/180 F1 F2
389 5 13 0 0 384 0

0.01745329 0.2268928 384.068903 5.66423083
0.03490659 0.03490659 383.766078 13.4014067

LUNAR  ORBIT 0.05235988 0.05235988 383.473741 20.0970072
0.06981317 0.27925268 383.246107 25.7570815

F1 X=aCOSc-bCOSnc 0.08726646 0.50614548 383.146639 31.4795358
0.10471976 0.73303829 383.153293 37.3159192

F2 Y=aSINc-bSINnc 0.12217305 0.95993109 383.232571 43.3114144
0.13962634 1.18682389 383.341246 49.502417
0.15707963 1.41371669 383.428592 55.9145652
0.17453293 1.6406095 383.438998 62.5613209
0.19198622 1.8675023 383.314833 69.4431754
0.20943951 2.0943951 382.999417 76.5475207
0.2268928 2.32128791 382.439947 83.8491916
0.2443461 2.54818071 381.590225 91.3116529

0.26179939 2.77507351 380.413049 98.8887688
0.27925268 3.00196631 378.88214 106.527066
0.29670597 3.22885912 376.983524 114.168372
0.31415927 3.45575192 374.716267 121.752696
0.33161256 3.68264472 372.092562 129.221202
0.34906585 3.90953752 369.137128 136.519128
0.36651914 4.13643033 365.885981 143.598485
0.38397244 4.36332313 362.38462 150.420428
0.40142573 4.59021593 358.685735 156.95714
0.41887902 4.81710874 354.846541 163.193164
0.43633231 5.04400154 350.925888 169.126097
0.45378561 5.27089434 346.981288 174.766617
0.4712389 5.49778714 343.066004 180.137838

0.48869219 5.72467995 339.226373 185.274034
0.50614548 5.95157275 335.499473 190.218783
0.52359878 6.17846555 331.911273 195.022642
0.54105207 6.40535835 328.475349 199.740464
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